
pq = pq ⇒ d(pq) = p dq + q dp ⇒
∫

d(pq) =

∫
p dq +

∫
q dp ⇒ pq =

∫
p dq +

∫
q dp

∫
p dq = pq −

∫
q dp

p dq

dy = f ′(x) dx y = f(x) p

dx

f(x) = lnx

dq p

p = lnx ⇒ dp =
x
dx

dq = dx ⇒ q = x

∫
lnx dx = pq −

∫
q dp = x lnx −

∫
x ×

x
dx = x lnx −

∫
dx = x lnx − x

f(x) = arctanx

dq p

p = arctanx ⇒ dp =
+ x

dx

dq = dx ⇒ q = x

∫
arctanx dx = pq −

∫
q dp = x arctanx −

∫
x ×

+ x
dx = x arctanx −

∫
x

x +
dx

= x arctanx − ln(x + )

∫
u′

u
= lnu



f(x) = arcsinx

dq p
p = arcsinx ⇒ dp = √ − x

dx

dq = dx ⇒ q = x∫
arcsinx dx = pq −

∫
q dp = x arcsinx −

∫
x × √ − x

dx = x arcsinx +

∫ − x√ − x
dx

= x arcsinx +
√

− x

∫
u′
√
u

=

∫
u′u− = − +

u
− + = u =

√
u

f(x) = x sinx

dq p
p = x ⇒ dp = dx

dq = sinx dx ⇒ q = − cosx∫
x sinx dx = pq −

∫
q dp = −x cosx −

∫
− cosxdx = −x cosx + sinx

x cosx sinx

f(x) = x cosx

dq p
p = x ⇒ dp = x dx

dq = cosx dx ⇒ q = sinx∫
x sinx dx = pq −

∫
q dp = x sinx −

∫
x sinx dx = x sinx − (−x cosx + sinx)

x

∫
x sinx dx

x x cosx sinx

f(x) = x tan x

dq p
p = x ⇒ dp = dx

dq = tan x dx ⇒ q = tanx − x∫
x tan x dx = pq −

∫
q dp = x(tanx − x) −

∫
tanx − x dx = x(tanx − x) + ln | cosx| − x

f(x) = x arctanx

dq p
p = arctanx ⇒ dp =

+ x
dx

dq = x dx ⇒ q = x



∫
x arctanx dx = pq −

∫
q dp = x arctanx −

∫
x

+ x
dx = x arctanx −

∫
( −

+ x
)

= x arctanx − (x − arctanx)

f(x) = x sinx

dq p

p = sinx ⇒ dp = cosx dx p = cosx ⇒ dp = − sinx dx

dq = x dx ⇒ q = x dq = x dx ⇒ q = x

∫
x sinx dx = x sinx −

∫
ex cosx dx = x sinx − x cosx −

∫
x sinx dx

A A =

∫
x sinx dx

A = x sinx − x cosx − A ⇒ A + A = x sinx − x cosx ⇒ A =
x sinx − x cosx

⇒
∫

x sinx dx = A =
x sinx − x cosx

f(x) = x sin x

dq p

p = sin x ⇒ dp = cos x dx p = cos x ⇒ dp = − sin x dx

dq = x dx ⇒ q = x dq = x dx ⇒ q = x

∫
x sin x dx = x sin x −

∫
e x cos x dx = x sin x −

(
x cos x +

∫
x sin x dx

)

= x sin x − x cos x −
∫

x sin x dx

A A = x sin x dx



A = x sin x − x cos x − A ⇒ A + A = x sin x − x cos x

⇒ A

(
+

)
= x sin x − x cos x

⇒ A = x sin x − x cos x

⇒ A =

(
x sin x − x cos x

)

⇒ A = x sin x − x cos x

f(x) = (lnx)

dq p

p = (lnx) ⇒ dp =
x
lnx dx p = lnx ⇒ dp =

x
dx

dq = dx ⇒ q = x dq = dx ⇒ q = x

∫
(lnx) dx = x (lnx) −

∫
x ×

x
lnx dx = x (lnx) −

∫
lnx dx = x (lnx) − (x lnx − x)

= x (lnx) − x lnx + x

(lnx) dx

f(x) = sin
√
x

dq p
√
x

p =
√
x ⇒ dp = √

x
dx

dq = √
x
sin

√
x dx ⇒ q = − cos

√
x

∫
sin

√
x dx =

∫ √
x × √

x
sin

√
x dx = − √

x cos
√
x +

∫
cos

√
x√

x
dx

= − √
x cos

√
x +

∫
cos

√
x√

x
dx = − √

x cos
√
x + sin

√
x

∫
cos

√
x dx

∫
e
√

x dx

∫
u′ cosu dx = sinu



∫
x cot x dx

∫
x sinx dx

∫
x cosx dx

∫
arccosx dx

∫
x dx∫

e
√

x dx

∫
cos

√
x dx

∫
(lnx) dx

∫
ex cosx dx

∫
x arccot x dx∫

xn lnx dx

∫
e− x cos x dx

∫
x lnx dx

∫
e x cos x dx

∫
e−x sinx dx


